        Редуктор для вращения купола
D4 / N4


D3 /N3 = N2







D2 / N2


               
D1 = 16 mm                                                                   N4 = 0,0007 об/мин    =  1 оборот в сутки.                                                                                         

D2 = ?                                                                              N1= 0,13 об/мин

D3 = ?


D4 = 2900 mm     D4:D1 = 180
N1/N4 = 185     !!!!

 
                                                                                                                                Такое впечатление, что редуктор создавался для моего купола!!!!
   D1 / N1                                                                                                                                               





Редуктор








Выходной вал


N1 = 0,13 об/мин








Электродвигатель


      1280 об/мин





Ремень





Рельса купола








